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Which of the following solutions can have boiling point less than that of
both the individual components?

(a) n-Hexane and n-Heptane (b) HNO; and H,O
(c) HNO; and H,0 (d) GCGGH;0H and H,O
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Select the mixture in which volume of solution is less than 2 V mL on
mixing V mL each of the two miscible liquids:

(a) CCl, +CS, (b) ?ﬁgpzene + Toluene
CH5;COCH; + CH(:D (d) Hexane + Pentane
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100 mL liquid chloroform is mixed with 100 mL liguid acetone at 25°C.
Which of the following may be the final volume of resulting solution?

(a) 200 mL (b) 203 mL
\(9,/198 mL (d) Any of these
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iquids on mixing, form azeotropes. Which of the following is only
incorrect statement regarding azeotropic binary mixture of liquids?
(a) The compositions in liguids and vapour phases are same.

(b) The boiling point of azeotropic mixture does not depend on external
pressure. a -

(c) Solutions having large positive deviation form minimum boiling
azeotrope at a specific composition.

(d) Solutions having large negative deviation form maximum boiling
azeotrope at a specific composition.
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The vapour pressures of pure liquids A and B are 400 and 600 mm Hg,
respectively at 298 K. On mixing the two liquids, the sum of their initial
volumes is equal to the volume of the final mixture. The mole fraction of
liguid B is 0.5 in the mixture. The vapour pressure of the final solution, the
mole fractions of components A and B in vapour phase, respectively are

[JEE Main 2019, 8 April Shift-1]

/}é 450 mm Hg, 0.4, 0.6 (b) 500 mm Hg, 0.5, 0.5
>(Z) 450 mm Hg, 0.5, 0.5 ‘w 500 mm Hg, 0.4, 0.6
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Liquid M and liquid N form an ideal solution. The vapour pressures of pure
liguids M and N are 450 and 700 mm Hg, respectively, at the same
temperature. Then correct statement is |JEE Main 2019, 9 April Shift-I)

X = mole fraction of M in solution;

Xy = mole fraction of N in solution;

¥Ya = mole fraction of M in vapour phase;
¥y = mole fraction of N in vapour phase
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(c) J;: < ;: (d) (Xm—Vu) < (Xn—Vn)
= &)
?—‘

221 A

LAKSHYA KO HAR HAAL ME PAANA HAI




